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n: total number of points = 199, rejected : )
ﬁg?se: number of points selected =143  noise level = 59.56 mV

-p)° (RMS = 27.36 mV)
Fit: g(x) = 0 + h exp[- 1"7(!522)—]

o (sigma) p (position) o (offset) h (peak height)
[mm]

[mm] [mV] mV]
wire 1 0.566 + 0.025 -12.43 59.563 315.79
wire 2 0.654 +0.019 -2.55 59.563 501.81
wire 3 0.613 +0.014 . -2.52 59.563 513.14
average 0.611+0.020 59.563 443.580
w. aver. 0.617 £0.010 w2-w1=9.877 mm  w3-w2=0.024 mm
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Scan: total number of points = 133, rejected = 0
Noise: number of points selected = 52 noise level = 149.28 mv

2
Fit: g(x) = 0 + h exp[- (—E)—’;Gz ] ARBESH =023 i)
o (sigma) p (position) o (offset) h (peak height)
[mm] [mm] [mV] mV]
wire 1 0.511+0.003 -2.30 149.280 962.95
wire 2 0.507 +0.002 -2.30 149.280  965.79
wire 3
average 0.509 +0.002 149.280 964.367

w. aver. 0.509 +0.002 w2-w1=0.002 mm



